Do Now: In the following quadrilaterals, given that AB//CD and AD//BC, make as many conclusions as you can about ABCD[image: ]
Think about angles and side lengths.[image: ]











Properties of Parallelograms: 
·  
·  
·  
· 
Solve for both x and y in both parallelograms.[image: ][image: ]











Given WVYX is a parallelogram. Determine the value of x.
[image: ]
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What do we need to prove before showing its a parallelogram? 
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In the diagram of parallelogram ABCD shown below the measure of ZA is five times the measure of ZD .
Which of the following is the measure of 247 A
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In parallelogram LMNP, m/L=8x-41, mZM =2x+1, mN=6x+3. Which of the following is the
measure of ZP? Hint: draw a picture.
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Exercise #4: In the diagram shown, it is known that RU || ST and RU = ST .
Prove that RSTU must be a parallelogram.
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What properties of parallelograms can we
apply here?
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Example 1:

Find the value of all unknowns giving reasons
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